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R o | BT e | B2 | T | o e | B2 | B TR e | B2 | T e | & T
9 100kN/m##8 %% 1.00{ 0.00 ~ 246 138.58| 3m%x#B 25 =l ~ = = —| 100kN/m%Z#8 %% 1.00] 10.75 ~ 23.55 138.58| 3m#%#BZx % al ~ = = =
s 1.00]2.46 ~ 10.25 100.00f #h kit | 0.00 ~ 10.25| 2.59 13.58 Lo 1.00] 5.00 ~ 10.75 100.00f =hlst | 5.00 ~ 2355 2.59 13.58
3 100kN/m##B %% 1.00{ 0.00 ~ 248 138.92| 3m%x#B 25 =l ~ = = —| 100kN/m%Z#8 % % 1.00] 10.64 ~ 22.74 138.92| 3m#%#BZx % al ~ = = =
s 1.00] 2.48 ~ 10.27 100.00f #h kit | 0.00 ~ 10.27| 2.62 13.75 Lo 1.00] 5.00 ~ 10.64 100.00f =hlst | 5.00 ~ 2274 2.62 13.75
4 100kN/m##B % % 1.00{0.00 ~ 212 132.84|3m%x#B25 =l ~ = = —| 100kN/m%Z#8 % % 1.00| 10.69 ~ 20.01 132.84| 3m#%#BZx 5 al ~ = = =
s 1.00]2.12 ~ 9.90 100.00f #h kit | 0.00 ~ 9.90| 2.60 13.65 Lo 1.00] 5.00 ~ 10.69 100.00f =hLlst | 5.00 ~ 20.01| 2.60 13.65
5 100kN/mM%EBZ 5 -l -~ = - 3m%EiBZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EBZ B -~ = = =
s 1.00/0.00 ~ 6.89 87.20f =n L4+ | 0.00 ~ 0.00| 1.69 8.85 Lo 1.00] 500 ~ 8.59 87.20| =nLls | 500 ~ 859 1.69 8.85
6 100kN/mM%EBZ 5 -l -~ = - 3mZE#BZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EBZ B -~ = = =
s 1.00/0.00 ~ 6.26 78.60f = Llst 1 0.00 ~ 0.00| 1.67 8.75 Lo 1.00] 500 ~ 740 78.60| =hLi4t | 5.00 ~ 7.40| 1.67 8.75
7 100kN/mM%EBZ 5 -l -~ = - 3m%Ei#BZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EBZ B -~ = = =
s 1.00/0.00 ~ 6.26 78.68| = Ll4t 1 0.00 ~ 0.00| 1.67 8.76 Lo 1.00] 500 ~ 740 78.68| =nList | 5.00 ~ 7.40| 1.67 8.76
8 100kN/mM%EBZ 5 -l -~ = - 3m%EiBZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EiBZ B -~ = = =
L 1.00] 0.00 ~ 4.69 58.51| ZhLlst 1 0.00 ~ 0.00| 1.60 8.39 Lo 1.00] 500 ~ 5.10 58.51| =nLls | 500 ~ 5.10( 1.60 8.39
100kN/mMZ#8 2 % ~ 3mEEZ S ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhnLst ~ ZhnLst ~ ZhLst ~
100kN/mMZ#8 2 % ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ st ~ Lot ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZhnLst ~ Lot ~ Zhust ~
100kN/mM%#8 2 % ~ 3mEEZ D ~ 100kN/mM%E#Z5 ~ ImEEZD ~
Ths ~ st ~ ZhnLst ~ Zhust ~
100kN/mMZ#8 2 % ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhst ~ ZhnLst ~ ZhnLst ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEEZ S ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhnLst ~ ZhLst ~
100kN/mMZ#8 2 % ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhst ~ ZhLst ~ ZhLst ~ Zhust ~
100kN/MZ#8 2 % ~ 3mEEZ D ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ LSt ~ Zhust ~
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